In a coffee-cup calorimeter, a student mixes 1.60 g ammonium nitrate with 75.0 mL water at an initially temperature of 25.00°C.  After dissolution of the salt, the final temperature of the calorimeter contents is 23.34°C.  Calculate the enthalpy change for the dissolution of ammonium nitrate.

Using bond energies to predict the enthalpy change for the following reaction.  State whether the reaction is exothermic or endothermic: H2S (g) + 3 F2 (g) → SF4 (g) + 2 HF (g)

Determine the enthalpy for the reaction represented by the following equation: SO2 (g) + 0.5 O2 (g) → SO3 (g)

Use Hess’s Law along with the following equations:

S (s) + O2 (g) → SO2 (g)


ΔH = -296.8 kJ

2 S (s) + 3 O2 (g) → 2 SO3 (g)

ΔH = -795.45 kJ

Calculate the ΔH° for the reaction using the ΔH°f values: CO (g) + 2 H2 (g) → CH3OH (l).  Is the reaction exothermic or endothermic?  Draw a potential energy diagram for this reaction.
